Lesson 1.2: Radicals and Operations

Practice Run

State any restrictions on the variable and then simplify each expression.

1. =3y’ /18y’

2. —2/a(4/5 - 8a)

3.0 48/7
-6/167°
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’/‘ Compare your answers.

State any restrictions on the variable and then simplify each expression.

1. =3y /18y Note: y cannot be negative

35 2y
- F 2y
=—3y'+3.y/2-y
=—3:3+y’+y/2y
:_9‘)73“\/5

=—9y*/2y wheny=>0,and y eR

2. —2/a(4)5 - 8a) Note: a cannot be negative

=((-2ya)+4y5)~((=2/a)-8a)
=(-8+/5a)~(~16aya)

=—8y5a + 16a\/5 whena = 0,and a € R

48,7 Note: z cannot be negative

—6./167

_-8/7
J4*7
_—8/7
47
_ -8 V2
1V

5
——9. /%
=-2/7"
=—2./7

=—2zwhenz=>0,and z€R

3.

* Although there is no radical in the final, simplified expression, the restrictions

487

placed on the variable are based on the original expression Te/ler
- V4
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